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UW— 6 7 74 95

uw— 8 16 17 7 74 95

£ Uw—10 19 | 19 7 74 a7

I uw—12 20 22 7 74 97

I ™ Uw — 15 26 27 75| 78 | 103

L T e uw —18 28 32 8 78 | 103

A Uw — 20 32 36 8 78 | 103

I ) ) ) | pis Uw — 22 32 36 9 78 | 103

a w < UW — 25 38 | 41 10 78 | 105

uw — 28 39 46 10 82 | 110

D Uw — 30 46 46 10 82 [ 111

. i Uw — 32 46 50 11 82 [ 111

P = Uw — 35 46 55 11 82 | 117

L Uw — 38 55 60 12 82 | 121

UW — 40 55 60 2 90 | 129

UW — 50 65 75 2 90 [ 133

UW — /s /8 | 105 8 19 19 7 74 97

UW — /4 Va | 138 11 22 24 75| 78 | 102

UW — 3/a 3 | 17.3 | 14 28 32 8 78 | 103

UwW — 1/2 V2 | 217 ] 18 32 36 9 78 | 103

UW —3/4 3a | 272 | 22 39 46 10 82 | 110

uw — 1 1 340 | 28 46 55 11 g2 | 117

UW — 11/ 1/4 | 427 | 34 58 65 12 90 [ 131

#Average Values Uw —11/2 1/2 | 48.6 40 65 75 12 90 133

# LERRTTIEME DR LICLDEFTEDRT LN BHET,

— - D S o~ -
n=7az#y  BEN[ wor ] B
S— 4x/s 4 /s | 265|397 12 | 12 | 6 | 22 | 2565
P S— Bx/s 6 /s | 4 | 397 14 | 14 | 7 | 28 | 345
S— 6x/a 6 /a | 4 | 601 14 | 14 | 7 | 33 | 375
e S— 8x/s 8 /s | 4 | 397] 17| 17 | 7 | 29 | 3656
S— 8x1/a 8 /a | 6 | 601 17| 17 | 7 | 33 | 375
L S —10x1/a 0 Va | 7 | 601 17| 18| 7 | 33 | 385
BRI S — 10x%/s 10 3s | 8 | 635 19| 19 | 7 | 34 | 39
—— S—10x1/2 0 /2 | 8 | 8.6 22 | 18 | 7 | 39 | 425
I S— 12x1/a T2 /a | 7 | 601] 19 | 22 | 7 | 33 | 385
: - A S — 12x%/s 12 3%s | 9 | 635 19 | 22 | 7 | 34 | 39
J_ w| < S —12x1/2 12 /2 |10 | 8.16]| 22 | 22 | 7 | 39 | 425
- S — 16x%/s 15 3s | 9 | 635 24 | 27 | 75| 37 | 43
W S— 15x/2 15 /o |12 | B.16| 24 | 27 | 75| 41 | 455
- i S — 16x%/s 16 3%s | 9 | 635 27 | 30 | 75| 37 | 43
M | S — 16x1/2 16 /o (12 | 8.18| 27 | 30 | 75| 41 | 465
G ! L S — 18x%/s 18 3% | 9 | 635 27 | 32 | 8 | 37 | 43
' S —18%/2 18 /2 |12 | 8.16] 27 | 32 | 8 | 41 | 455
S — 20x1/2 20 /2 |12 | 8.16] 30 | 36 | 8 | 43 | 475
S — 20x3/a 20 34 |16 | 953] 30 | 36 | 8 | 45 | 48
S — 22x1/2 22 /2 |12 | 8.16] 32 | 36 | 9 | 43 | 475
S — 22x3/a 22 34 |16 | 953 32 | 36 | 9 | 45 | 48
S — 25x3/a 25 34 |16 | 953 36 | 41 |10 | 46 | 5O
S — 25x1 25 1 |20 [10.39] 36 | 41 |10 | 49 | 52
S — 28x%a 28 34 |16 | 953 41 | 46 |10 | 48 | 625
S — 28x1 28 1 |22 [10.39] 41 | 46 |10 | 51 | 545
S — 30x]1 30 1 |22 [10.39] 41 | 46 |10 | 51 | 55
S — 30x11/a 30 11/a |25 [12.70| 46 | 46 |10 | 55 | 57
S —32x11/a 32 17/a |26 [12.70] 46 | 50 |11 | 55 | 67
S — 36x11/a 35 17/a |28 [12.70| 46 | 55 |11 | 55 | 60
S —38x11/2 38 1/2 |32 [12.70] 50 | 60 |12 | 57 | 64
S —40x11/2 40 1/2 32 12.70] 55 | 60 |12 | 62 | 69
S — 4ox11/2 42 /2 |34 [12.70] 55 | 60 |12 | 62 | 69
S — 50x2 50 2 |40 |1588] 65 | 75 |12 | 71 | 765
S — /axX1/s /s |105] /s | 4 | 397] 17 | 19| 7 | 29 | 365
S — V/ax/a /s |105] /a | 7 | 601] 17 | 19 | 7 | 33 | 385
S — V/ax/a /a [188] /a | 7 | 601] 22 | 24 | 75| 36 | 42
S — 1/ax3/s Ja |138]| 3/s | 9 | 6.35| 22 | 24 | 75| 37 | 4256
S — 3/x/s 3 |17.3| s | 9 | 635 27 | 32 | 8 | 37 | 43
S — 9/sx/a % [17.3| V= |12 | 8.16| 27 | 32 | 8 | 41 | 455
S —1/2x1/2 /2 |21.7] V2 |12 | 8.16| 32 | 386 | 9 | 43 | 475
S — 1/2x%/a /2 |21.7] 3/a |16 | 953| 32 | 36 | 9 | 45 | 48
S — 3/ax3/a 3/a |27.2| 94 |16 | 953| 41 | 46 |10 | 48 | 6256
S — 8/ax1 34 |272] 1 |e2 [10.39] 41 | 46 |10 | 51 | 545
sS— 1x1 1_|34.0] 1 |22 [10.39] 46 | 55 |11 | 52 | 59
S— 1xVa 1 |34.0|1/a |28 [12.70] 46 | 55 |11 | 55 | 60
S— 11/ax1/a__| 1V/a |42.7| 11/a |31 [12.70| 60 | 65 |12 | 64 | 72
S—11/ax11/2_ | 1V/a |42.7|11/2 |34 [12.70] 60 | 65 |12 | 64 | 72
S—11/2x1/2 | 1/2|486|1/2 |86 [1270] 65 | 75 |12 | 67 | 76
%Average Values S — 11/ax2 1/2 486 2 |40 [15.88] 65 | 75 |12 | 71 | 765
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